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Note :

vi)

vii)

viii)

The question'paper is divided into tweo parts — Part-A and Part-B.

Part-A and Part-B are divided into three Sub-Sections — (1), (2) and
(3). | )

In Part-A of the question paper, there are multiple
n by a blue or black ball.

choice questions in

which select the correct alternative and the

point pen, fill completely in the circle in OMR Answer Sheet. Do not

erase, cut or use whitener on the OMR Answer Sheet after answering,
1 mark is allotted for each question in the multiple choice question of
Part-A.
Part-B has descriptive questions.
The allotted marks are given in each question.
All the questions of Sub-Sections of Part-B are to be attempted all at a
time. Start each Sub-Section from a new page.
All the questions are compulsory.
quE - A
PART - A
( agfawedty W )
( Multiple Choice Type Questions )
IqNTT - (1)
Sub-Section - (1)

| Pem A w-m o B o @ wed % R 3w 3 w2
@) ¥ PERPF AT (B) 10 ¥ Frkw gft w1 wae oW
C) 0¥ PEERFITAAT (D) 20 W B g F rwA o |

Which of the following lenses should be used to read small letters ?

(A} Convex lens of 10 cm focal length

(B) Concave lens of 10 cm focal length
(C} Convex lens of 20 cm focal length
(D) Concave lens of 20 cm focal length y
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2. i % fenfem #1 wvowm &

(A) TR W W (B) & 1 W&

(C) IgvEstE rvaEds D) ¥ & wrf Tl :
2. The cause of twinkling of stars, is

(A) Scattering of light (B) Reflection of light

. (C} ° Atmospheric refraction (D) None of these 1

3. 39t qdw g W fRra awg w1 whifoa g d

(A) arafas T w= (B) el @un B

(C)  mwwt At &% (D) IRl aun B 1
3. The image by a convex mirror of an object placed at infinity 18

(A) Real and magnified 4B} Virtual and diminished

(C) Virtual and magnified (D) Real and diminished 1
4. A THW @ B @ TR 9N W, ged it fraem S aen @ m

(A) e (B) ¥

() =ah (D) fen 1
4. The colour having largest angle of deviation on passing white light

through a prism, will be

(A) Yellow : (B) Green
(C) Orange (D)~ Blue 1
s wfem A# & 78 AEet 1 GAEM (matching), Ffew BE & m§ wifew wfiml @
A B
(1) 3w @ Tgaew
2 9 i) foga wiw
@) wHrR i) e of®
(4) = iv) Taga femm

(A)  (1)-(ii), (2)-(idi), (3)-(3), (4)-Gv) @) (1)-(iv), (2)-(id), (3)-(i), (4)-(ii)
©  ()-(ii), (2)-), (3)-(iv), (@)-G0) @ ()G, (2)-(0), (3)-(ii, (4)-0V) 1
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5. Choose the correct alternative by matching the physical quantities jp

column (B), with the units in column (A).

A B
(1) ohm ()  electric current
(2) watt (i)  electric resistance
(3) ampere (iii) electric power
(4) wvolt livy Electric potential difference

(1)-(iv), (2)-G), (3)-(), (4)-(iLi)

(A (1)-(i), (2)-Gii), (3)-(), (4)-(iv)  (B)
(1)-(id), (2)-G), (3)-(iii), (4)-(v) 1

(C) (1)-(iii), (2)-(), (3)-(iv), (4)-(ii) (D)
RT 2Rnﬁﬂﬁ$a‘raﬁa&qﬁaﬂﬁmmmﬁmmﬁﬁymtl

6.
afe 2t gl § ot WY FM: R, 7w R, &, 7@ R, /R, WM
a) 9 ®
9 2
€ 3 D 3 1
6. Two wires of resistances R and 2R are joined first in series and then in
parallel. If the total resistances in the two conditions are R, and R,
respectively, then R, /R, will be
) 9 B 3
© 3 o 3 ]
7. ﬁaﬁmﬁnﬁ:ﬁﬁﬁq{mﬁaﬂ,ﬂa%mmmmmﬁﬁam
&1 e wvft
s &4
N A
(A) Wt AR
B) TR I
(C) F & aet ¥ oraad AN $ AN
(D) T ¥ a1 % wraaa FR A AN !
7000/72
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7. The direction of the force acting on the electron entering perpendicular

to the magnetic field as shown in the figure, will be

magnetic field

I

< 1
I I | I ¢lectron

(A) towards left

(B) towards right

(C) perpendicular to the plane of paper downwards

(D) perpendicular to the plane of paper upwards
- (2)
Sub-Section - (2)

8. Wi i frarers Wi R

(A) - CHO B) >C=0

(C) -OH (D) -COOH
8. Functional group in propanal is

[ (A - CHO B) >C=0

(C) -OH (D) - COOH
9. e o %1 pH I 3

A) 7 (B) 14

© 1 D) 5
9. The pH value of neutral solution is
w7 ® 14

c 1 D) 5
10. freafefaa & $iom 2

(A) T (B) WA

(€ S ©)
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0. The ketone in the following is

(A} Methanol ) Ethanol .

(ICl  Propanone (D) Propene 1
11 3¢ W R TSR W R e w

A} Au B) AR

© K (D) Cu 1

11.  The element producing hydrogen gas with cold water I8

(A} Au (B) Ag

€ K (D) Cu 1
12. mmﬁmmﬁﬁmmnﬂm{%MWﬁﬁmt

A P B) oI

(C) R (D) 3T W T |

12.  The process for obtaining oxide from carbonate ore by heating at a high

temperature in a limited supply of air is

(A) Calcination (B) Roasting

(C) Smelting (D) Concentration of ore |
13.  wrfw AffFn Cuso, + Fe —— FeSO, +Cu 2

(&) wae srfifwa ) e afvfen

(C)  ¥vwes siufyen (D) 397 3quzq i I

13.  Chemical reaction CuSO, +Fe — FeSO, +Cu is
(A) Combination reaction
(B) Displacement reaction

(C) Decomposition reaction

(D] Double dCCOmposition rca(‘[i@n !

https://www.upboardonline.com
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STUTT - (3)
Sub-Section - (3)
et g & fQ AR 2
(A) Frda TreaiETEs T W © g
(C) TR D) T A @i

The autotrophic mode of nutrition requires

(p) Carbon dioxide and water (B)  Sunlight

(C) Chlorophyll By~ All of these
5. Pt § ¥ HA-|1 96T EEE R 2
(A) IRRTA (B) mﬁq
€ TR D) urEdH
15. Which of the following is a plant hormone ?
(A) Testosterone (B) Cytokinin
(C) Adrenaline (D) Thyroxin
16. oo ® B #
(A) IS B) ity
(C) WU (D) WTESH
16. The anther contains
(A) Ovary | (B) Uterus
(C) Pollen grains (D) Sepals
17, qeQER (JASHR) TR SO B ?
(A) TR H - (B @HRE#
(c) smfRem & D) FIRH
17. Reproduction by means of regeneration occurs in
{A) Hydra () Planaria
(C) Bryophyllum (D) Pigeon
7000/72
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8. Q by B & aw el we @ w0 ¥
A ferm (B) HTRAA
() Frsatfem (D) SHETHH
18, The gap between (wo ncurons is called a/an
(A)  Synapse (B) Auxin
(C) Gibberellin (D) Diaphragm
19, ﬁmﬁﬁﬁqwmﬁmmmt?
(A) W B) frw
(C) ®WdY (D) st
19. Which one of the following is an example of producer in an ecosystem ?
(A)  Lion (B) Deer
(C) Green plants (D) Rain
20. RV I W W F Hex b DM F BT wrwoi oy e frar & 2
(A) M / gifer B) &M
(C) &%T / &t gw D) T & wvft ]
20. Which character(s) of Pea plant has been studied by Mendel in his
experiments ? -
(A) Round/Wrinkled seed _ (B) Tall/Dwarf plant
(C) White/Violet flowers (D)  All of thesge 1
g - 9|
PART - B
( AUTATEF WY )
( Descriptive Questions )
JAWTT - (1)
Sub-Section - (1)
L) Y & s R Q) srpfees e wany ’
() 3R A e sm ¥ @A & > 37 T Tk :
| (i) State two natural phenomena of scattering of light. 2
(ii) How many types of defects of vision are there ? Write down their
names. i
7000/72
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(1)

(1)

(ii)

(i)

(1)

(ii)

(ii)

i)

7000/72

9  824(10)

et i e I A & A-Q Iwm fifg | 2
mﬁgﬁﬁ;ﬁa@%ﬂﬁﬁmmwmmml 2
Write down two uses each of convex mirror and convex lens. 2

Draw a ray diagram of the image of an object formed by a concave

lens. 2
Mmﬁmmmmmwwﬂa@%&m%? 2
500 1 T e 12 w1 WfeT 3w # ot &) Westex 2 30 A @
faralt RreiaTe-ger Sl i 39Am & stman @ 2 2

How are voltmeter and ammeter joined on passing current in a

resistor ? https://www.upboardonline.com ' ‘,:‘ . .9

A refrigerator of 500 watt is used for 12 hours everyday. How much
kilowatt-hour energy is consumed by the refrigerator for 30 days ?

2

fordt o8 gas & IR IR FEhE 87 W@ w fm T REmn 2

YT SRR S RV rahia &1 =T st w el war @ 2 2

M m e gy w e 2
e

JEhT 847§ 1@ YRETR WerE T R a0 96 - S W Bk
R ? b

Hhiﬁgawﬁwﬁmﬁaﬂug?ﬁ@%%?maammm%tﬂ
fafag 4

Show by making a diagram for the magnetic lines of force around a

bar magnet, | ' 2

On which factors, does the magnetic field due to a current

carrying solenoid depend ? 2
What is Fleming's left hand rule ? - 2
OR

. | Turn over
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() On which factors, does the force acting oo 2 eument Carrym:
conductor placed in a magnetic field depend ? | |
(i) How many wires are used in domestiC electrical circuit ? Write the
names of each and their colours of insulation. )
JAHTT - (2)
Sub-Section - (2)
5. (a) Prafafea @t % iupac m fafae 1+l
()  wfesw
(i) wHifew =)
(b) e B3 vamafie siRms & vamafe @i e 2
5 (a) Write IUPAC names of the following compounds : 1+1
\y'] Acetylene
(i)  Acetic acid
(9) Write chemical equations of two chemical reactions of ethanol. 2
6. (a) & TR B THHTEY AT THH B I w1 TErfE wrfie fafw 2
(b) Efsraar Avft w TR AU W @& Iwm fARkgu) 2
6. (a) Explain the process of combustion and write chemical equations of
two examples of it. 2
(b) Explain reactivity series and write its one use. 2
7. (@) 3 3 aR A Iy F wa € 2 3R e ¥ pH ¥ @ syam frfew 3
(b) o ol v @ @ faf =1 Tt el a9 oo Rfgn 3
AT
Fraferftga w feogeft ﬁ}ﬁ'ﬁq :
() fode | . 2
(b)  HEw 2
(c) HT 6 H’é?ﬂ'g@ SITﬁ"fI 2
7000/72
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.7' (@)  What do you understand by acid and base ? Write two applications

of pH in daily life. 3

(b)  Write the chemical equation for the method of obtaining bleaching

powder and its two uses. 3
OR

Write short notes on the following :

(a) Micelle . . 2

(b) Corrosion | 2

(c)  Versatile nature of carbon. , 2
AU - (3) |

Sub-Section - (3)
8. Iy yadd w1 2 2 3 Iaew W@ R % wieam @ Tmet aviv A1)

1+1+2
8. What is vegetative propagation ? Describe it with suitable example and
diagrams. 1+1+2
9. Frafofes w wfdm Roafrt fafew 2+2
(a)  SBTSl HYIYOT |
(b) HET TAI
0. Write short ng_:tcs on the following : 2+2
(a) Photosynthesis
(b) Human heart |
0. 3 @ TR ? gl ¥ g v WE WOSH St 2+2
10. Whatis Ozone layer ? Highlight its importance for earth. 2+2
7000/72 [ Turn over
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3+3

11.  Pefafes ) fovht fafy

@ fom fukm

(b) AvEA H Frm|

rgar

A gl W uE ey fafag) ©
11. Write notes on the following : 3+3

(a) Sex determination

(b) Mendel's laws.

OR
Writle an essay on human hormones. _ 6

824(10) - 4,48,000
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